

An Inductive Attempt to Prove Mean Value Theorem for n- Real Valued Functions

Kanduri Venkata Lakshmi Narasimhacharyulu¹

¹Associate Professor
Bapatla Engineering College
Bapatla, India
kvlna@yahoo.com

Bodigiri Sai Gopi Nadh²

²I M.Sc (Mathematics)
Bapatla Engineering College
Bapatla, India
saigopi1993@yahoo.com

Received: 18-10-2013

Revised: 23-11-2013

Accepted: 30-11-2013

Abstract: *The paper intends to establish a mean value theorem for n- real valued functions. It is proved with the help of Mathematical induction. In addition to this, the mean value theorem for two functions which contain n components each is also instituted with the support of standard mean value theorems. For showing the theorems, the nature of continuity and differentiability of the functions have been adopted conditionally.*

Keywords: *Continuity, Differentiability, Standard mean Value Theorems and Mathematical Induction.*

1. INTRODUCTION

Mean value theorems are pillars of modern analysis which help us to gain some new inventions with analytical approach. Many Mathematicians like Michel Rolle, Joseph Louis Lagrange, Augustin-Louis Cauchy etc. contributed their might of valuable results to the field of real analysis. New eras and constructive ideas were opened for the next generation in the continuation of their work. Several generalizations and exclusive extensions have been established by Hardy, G.H[2], Buck, R.C[1], Simmons, G.F[4], Ruddin, W[3] and Smith, K.T[5]. Mean value theorems can apply in real life situation for analyzing in a better way to obtain the fruitful solution. In this paper, the authors utilized the concept of mathematical induction. Mathematical induction is an effective and efficient tool in differential calculus to achieve a set of necessary goals.

An inductive attempt is made to prove mean value theorem for n real valued functions. The main essence of the principle of mathematical induction is the noticeable deterioration in performance of a step which leads inevitably to next step. Let K be any inter (may be positive, negative, zero) and $S_{K_0}, S_{K_0+1} \dots S_K \dots$ be the propositions where each integer $K \geq K_0$ which satisfy (i) S_{K_0} is true (ii) S_K implies S_{K+1} for every integer K then S_K is valid for every integer $K \geq K_0$. On other words, a statement is valid for $K=1, K=2, \dots$, also assume that the statement is valid for K and if it is also to be proved to valid for $K+1$, then the statement can be generalized for any integer K . This phenomenon is being utilized in many applications and complex situations to obtain the validity of the results.

In this paper, the authors aimed to establish a mean value theorem for n- real valued functions. It is proved with the help of Mathematical induction. In addition to this, the mean value theorem for two functions which contain n components each is also instituted with the back ground of

standard mean value theorems. The continuity and differentiability of the functions have been considered for establishing lemmas and the theorems.

2. MEAN VALUE THEOREM FOR N-REAL VALUED FUNCTIONS

The following lemma will be used to prove the mean value theorem for n-real valued functions.

2.1 Lemma:

$$\text{Prove that } \sum_{i=0}^n f'_{2i+1}(c) \sum_{i=1}^n (f_{2i}(b) - f_{2i}(a)) = \sum_{i=1}^n f'_{2i}(c) \sum_{i=0}^n (f_{2i+1}(b) - f_{2i+1}(a)) \quad (1)$$

where f_k ($K=1,2,3,\dots,n$) is continuous on $[a,b]$ and derivable on (a,b) .

Proof: It can be shown with the aid of mathematical induction.

In the case of having one and only function, it is trivially true.

If the system involves two real valued functions ($i=2$)

$$f'_1(c)(f_2(b) - f_2(a)) = f'_2(c)(f_1(b) - f_1(a))$$

By above result is true by Cauchy's mean value theorem.

If the system necessitates three real valued functions ($i=3$), then

$$(f'_1(c) + f'_3(c))(f_2(b) - f_2(a)) = f'_2(c)(f_1(b) - f_1(a) + f_3(b) - f_3(a))$$

It can be verified as below

Define a function $h(x)$ as

$$h(x) = (f'_1(x) + f'_3(x))(f_2(b) - f_2(a)) - f'_2(x)(f_1(b) - f_1(a) + f_3(b) - f_3(a))$$

$$h(a) = (f'_1(a) + f'_3(a))(f_2(b) - f_2(a)) - f'_2(a)(f_1(b) - f_1(a) + f_3(b) - f_3(a))$$

$$= f'_1(a)f_2(b) + f'_2(b)f_3(a) - f'_2(a)f_1(b) - f'_2(a)f_3(b)$$

$$h(b) = (f'_1(b) + f'_3(b))(f_2(b) - f_2(a)) - f'_2(b)(f_1(b) - f_1(a) + f_3(b) - f_3(a))$$

$$= f'_1(b)f_2(b) + f'_2(b)f_3(a) - f'_2(b)f_1(b) - f'_2(b)f_3(b)$$

Therefore $h(a) = h(b)$ is true. Thus h satisfies the three conditions of Rolle's Theorem.

(i) h is continuous on $[a,b]$

(ii) h is derivable on (a,b)

(iii) $h(a) = h(b)$

The three conditions of Rolle's theorem are satisfied, then there exists at least one constant c which belongs to (a,b) such that $h'(c) = 0$.

$$(f'_1(c) + f'_3(c))(f_2(b) - f_2(a)) - f'_2(c)(f_1(b) - f_1(a) + f_3(b) - f_3(a)) = 0$$

$$(f'_1(c) + f'_3(c))(f_2(b) - f_2(a)) = f'_2(c)(f_1(b) - f_1(a) + f_3(b) - f_3(a))$$

It is observed that the statement is valid for the three real valued functions.

Now, it is assumed that the statement (1) is true for $i=k$.

$$\sum_{i=0}^k f'_{2i+1}(c) \sum_{i=1}^k (f_{2i}(b) - f_{2i}(a)) = \sum_{i=1}^k f'_{2i}(c) \sum_{i=0}^k (f_{2i+1}(b) - f_{2i+1}(a))$$

Now it requires to verify the validity of the statement (1) for $i=k+1$.

$$\text{Consider L.H.S} = \sum_{i=0}^{k+1} f'_{2i+3}(c) \sum_{i=1}^{k+1} (f_{2i+2}(b) - f_{2i+2}(a))$$

$$= \left(\sum_{i=0}^k f'_{2i+1}(c) + f'_{2k+3}(c) \right) \left(\sum_{i=1}^k (f_{2i}(b) - f_{2i}(a)) + f_{2k+2}(b) - f_{2k+2}(a) \right)$$

$$= \left(\sum_{i=0}^k f'_{2i+1}(c) \sum_{i=1}^k (f_{2i}(b) - f_{2i}(a)) + \sum_{i=0}^k f'_{2i+1}(c) (f_{2k+2}(b) - f_{2k+2}(a)) \right) \\ + f'_{2k+3}(c) \sum_{i=1}^k (f_{2i}(b) - f_{2i}(a)) + f'_{2k+3}(c) (f_{2k+2}(b) - f_{2k+2}(a))$$

By the application of cauchy's mean value thorem,

$$\sum_{i=1}^k f'_i(c) (g_m(b) - g_m(a)) = g'_m(c) \sum_{i=1}^k (f_i(b) - f_i(a)) \\ \sum_{i=0}^k f'_{2i+1}(c) (f_{2k+2}(b) - f_{2k+2}(a)) = f'_{2k+2}(c) \sum_{i=0}^k (f_{2i+1}(b) - f_{2i+1}(a)) \\ \text{and } \sum_{i=1}^k f'_{2i}(c) (f_{2k+3}(b) - f_{2k+3}(a)) = f'_{2k+3}(c) \sum_{i=1}^k (f_{2i}(b) - f_{2i}(a)) \\ = \sum_{i=1}^k f'_{2i}(c) \sum_{i=0}^k (f_{2i+1}(b) - f_{2i+1}(a)) + \sum_{i=1}^k f'_{2i}(c) (f_{2k+3}(b) - f_{2k+3}(a)) \\ + f'_{2k+2}(c) \sum_{i=0}^k (f_{2i+1}(b) - f_{2i+1}(a)) + f'_{2k+2}(c) (f_{2k+3}(b) - f_{2k+3}(a)) \\ = \left(\sum_{i=1}^k f'_{2i}(c) + f'_{2k+2}(c) \right) \left(\sum_{i=0}^k (f_{2i+1}(b) - f_{2i+1}(a)) + f_{2k+3}(b) - f_{2k+3}(a) \right) \\ = \sum_{i=1}^{k+1} f'_{2i+2}(c) \sum_{i=0}^{k+1} (f_{2i+3}(b) - f_{2i+3}(a)) \\ = \text{R.H.S}$$

By mathematical induction, it is also valid and true for K+1.

$$\text{Hence } \sum_{i=0}^n f'_{2i+1}(c) \sum_{i=1}^n (f_{2i}(b) - f_{2i}(a)) = \sum_{i=1}^n f'_{2i}(c) \sum_{i=0}^n (f_{2i+1}(b) - f_{2i+1}(a))$$

2.2 Theorem: Let f_1, f_2, \dots, f_n are n-real valued functions defined on $[a, b]$ which satisfy the following conditions.

(i) f_1, f_2, \dots, f_n continuous on $[a, b]$

(ii) f_1, f_2, \dots, f_n derivable on (a, b)

then there exists at least one $c \in (a, b)$ such that

$$\sum_{i=0}^n f'_{2i+1}(c) \sum_{i=1}^n (f_{2i}(b) - f_{2i}(a)) = \sum_{i=1}^n f'_{2i}(c) \sum_{i=0}^n (f_{2i+1}(b) - f_{2i+1}(a)) \tag{2}$$

Proof: Define a function

$$g(x) = \sum_{i=0}^n f_{2i+1}(x) \sum_{i=1}^n (f_{2i}(b) - f_{2i}(a)) - \sum_{i=1}^n f_{2i}(x) \sum_{i=0}^n (f_{2i+1}(b) - f_{2i+1}(a))$$

Clearly g is continuous on $[a, b]$ and derivable on (a, b) .

For employing Rolle's theorem, it is necessary to verify that $g(a) = g(b)$,

$$g(a) = \sum_{i=0}^n f_{2i+1}(a) \sum_{i=1}^n (f_{2i}(b) - f_{2i}(a)) - \sum_{i=1}^n f_{2i}(a) \sum_{i=0}^n (f_{2i+1}(b) - f_{2i+1}(a)) \\ = \sum_{i=1}^n f_{2i}(b) \sum_{i=0}^n f_{2i+1}(a) - \sum_{i=0}^n f_{2i+1}(b) \sum_{i=1}^n f_{2i}(a) \\ g(b) = \sum_{i=0}^n f_{2i+1}(b) \sum_{i=1}^n (f_{2i}(b) - f_{2i}(a)) - \sum_{i=1}^n f_{2i}(b) \sum_{i=0}^n (f_{2i+1}(b) - f_{2i+1}(a)) \\ = \sum_{i=1}^n f_{2i}(b) \sum_{i=0}^n f_{2i+1}(a) - \sum_{i=0}^n f_{2i+1}(b) \sum_{i=1}^n f_{2i}(a)$$

Therefore $g(a) = g(b)$ is true.

Thus, g satisfies the following conditions.

- (i) g is continuous on $[a, b]$
- (ii) g is derivable on (a, b)
- (iii) $g(a) = g(b)$

The three conditions of Rolle's theorem are satisfied, hence by Rolle's theorem there exists at least one $c \in (a, b)$ such that $g'(c) = 0$

$$\sum_{i=0}^n f'_{2i+1}(c) \sum_{i=1}^n (f_{2i}(b) - f_{2i}(a)) - \sum_{i=1}^n f'_{2i}(c) \sum_{i=0}^n (f_{2i+1}(b) - f_{2i+1}(a)) = 0$$

$$\sum_{i=0}^n f'_{2i+1}(c) \sum_{i=1}^n (f_{2i}(b) - f_{2i}(a)) = \sum_{i=1}^n f'_{2i}(c) \sum_{i=0}^n (f_{2i+1}(b) - f_{2i+1}(a))$$

Hence the proof

2.4 Lemma: Show that
$$\frac{\sum_{i=1}^n f'_i(c)}{g'_m(c)} = \frac{\sum_{i=1}^n (f_i(b) - f_i(a))}{(g_m(b) - g_m(a))} \tag{3}$$

where $f_i (i=1, 2, 3 \dots n)$ and g_m are continuous on $[a, b]$ and derivable on (a, b) .

Proof: The above result is proved by mathematical induction

if $n=1$, then

$$\text{L.H.S} = \frac{f'_1(c)}{g'_m(c)} = \frac{f_1(b) - f_1(a)}{(g_m(b) - g_m(a))} = \text{R.H.S}$$

By Cauchy's mean value theorem the above result is true

Let us assume to consider that the statement (3) is valid for $n=k$.

$$\frac{\sum_{i=1}^k f'_i(c)}{g'_m(c)} = \frac{\sum_{i=1}^k (f_i(b) - f_i(a))}{(g_m(b) - g_m(a))}$$

Now, it is essential to verify that the statement (3) is true for $n=k+1$

$$\begin{aligned} \text{L.H.S} &= \frac{\sum_{i=1}^{k+1} f'_i(c)}{g'_m(c)} \\ &= \frac{\sum_{i=1}^k f'_i(c)}{g'_m(c)} + \frac{f'_{k+1}(c)}{g'_m(c)} \\ &= \frac{\sum_{i=1}^k (f_i(b) - f_i(a))}{(g_m(b) - g_m(a))} + \frac{(f_{k+1}(b) - f_{k+1}(a))}{(g_m(b) - g_m(a))} \\ &= \frac{\sum_{i=1}^{k+1} (f_i(b) - f_i(a))}{(g_m(b) - g_m(a))} \\ &= \text{R.H.S} \end{aligned}$$

Therefore the statement (3) is valid for $n=K+1$.

2.5 Lemma:

Prove that
$$\sum_{i=1}^n f'_i(c) \sum_{i=1}^n (g_i(b) - g_i(a)) = \sum_{i=1}^n g'_i(c) \sum_{i=1}^n (f_i(b) - f_i(a)) \tag{4}$$

where f_k and $g_k (k=1, 2, 3 \dots n)$ are continuous on $[a, b]$ and derivable on (a, b) .

Proof:-

By Cauchy mean value theorem, it can be stated as

$$f'_s(c) (g'_t(b) - g'_t(a)) = g'_t(c) (f'_s(b) - f'_s(a)) \text{ where } s, t \text{ are any natural numbers}$$

Case (i): if n=1

$$\text{then L.H.S} = f'_1(c) (g'_1(b) - g'_1(a)) = g'_1(c) (f'_1(b) - f'_1(a)) = \text{R.H.S}$$

Hence by Cauchy's mean value theorem the state is true for n=1

Case (ii): if n=2

$$\text{then, L.H.S} = f'_1(c) + f'_2(c) (g'_1(b) - g'_1(a) + g'_2(b) - g'_2(a))$$

$$= f'_1(c) (g'_1(b) - g'_1(a) + g'_2(b) - g'_2(a)) + f'_2(c) (g'_1(b) - g'_1(a) + g'_2(b) - g'_2(a))$$

$$= f'_1(c) (g'_1(b) - g'_1(a)) + f'_2(c) (g'_1(b) - g'_1(a)) + f'_1(c) (g'_2(b) - g'_2(a)) + f'_2(c) (g'_2(b) - g'_2(a))$$

$$= g'_1(c) (f'_1(b) - f'_1(a)) + g'_1(c) (f'_2(b) - f'_2(a)) + g'_2(c) (f'_1(b) - f'_1(a)) + g'_2(c) (f'_2(b) - f'_2(a))$$

$$= g'_1(c) (f'_1(b) - f'_1(a) + f'_2(b) - f'_2(a)) + g'_2(c) (f'_1(b) - f'_1(a) + f'_2(b) - f'_2(a))$$

$$= g'_1(c) + g'_2(c) (f'_1(b) - f'_1(a) + f'_2(b) - f'_2(a)) = \text{R.H.S}$$

Therefore the statement(4) is true for n=2.

Now, it is presumed that the statement (4) is true for n=k

$$\sum_{i=1}^k f'_i(c) \sum_{i=1}^k (g'_i(b) - g'_i(a)) = \sum_{i=1}^k g'_i(c) \sum_{i=1}^k (f'_i(b) - f'_i(a))$$

$$\text{and } f'_{k+1}(c)(g'_{k+1}(b) - g'_{k+1}(a)) = g'_{k+1}(c)(f'_{k+1}(b) - f'_{k+1}(a))$$

$$\text{Since } \sum_{i=1}^k f'_i(c)(g'_{k+1}(b) - g'_{k+1}(a)) = g'_{k+1}(c) \sum_{i=1}^k (f'_i(b) - f'_i(a))$$

$$\text{Similarly it can be proved } \sum_{i=1}^k g'_i(c)(f'_{k+1}(b) - f'_{k+1}(a)) = f'_{k+1}(c) \sum_{i=1}^k (g'_i(b) - g'_i(a))$$

Consider L.H.S,

$$\begin{aligned} & \sum_{i=1}^{k+1} f'_i(c) \sum_{i=1}^{k+1} (g'_i(b) - g'_i(a)) \\ &= \sum_{i=1}^k f'_i(c) \sum_{i=1}^k (g'_i(b) - g'_i(a)) + \sum_{i=1}^k f'_i(c)(g'_{k+1}(b) - g'_{k+1}(a)) \\ &+ f'_{k+1}(c) \sum_{i=1}^k (g'_i(b) - g'_i(a)) + f'_{k+1}(c)(g'_{k+1}(b) - g'_{k+1}(a)) \end{aligned}$$

$$\begin{aligned}
 &= \sum_{i=1}^k g_i'(c) \sum_{i=1}^k (f_i(b) - f_i(a)) + g_{k+1}'(c) \left(\sum_{i=1}^k (f_i(b) - f_i(a)) \right) \\
 &+ \sum_{i=1}^k g_i'(c) (f_{k+1}(b) - f_{k+1}(a)) + g_{k+1}'(c) (f_{k+1}(b) - f_{k+1}(a)) \\
 &= \sum_{i=1}^{k+1} g_i'(c) \sum_{i=1}^{k+1} (f_i(b) - f_i(a)) \\
 &= \text{R.H.S} \\
 \therefore \sum_{i=1}^n f_i'(c) \sum_{i=1}^n (g_i(b) - g_i(a)) &= \sum_{i=1}^n g_i'(c) \sum_{i=1}^n (f_i(b) - f_i(a))
 \end{aligned}$$

2.6 Corollary:

Let f and g contain n components $f_1, f_2, f_3 \dots f_n$ and $g_1, g_2 \dots g_n$ respectively .All components are real valued functions defined on $[a, b]$ which satisfy the following conditions.

- (I) if $f_1, f_2 \dots f_n$ and $g_1, g_2 \dots g_n$ are continuous on $[a, b]$
- (II) if $f_1, f_2 \dots f_n$ and $g_1, g_2 \dots g_n$ are derivable on (a, b)

then there exists at least one $c \in (a, b)$ Such that

$$\sum_{i=1}^n f_i'(c) \sum_{i=1}^n (g_i(b) - g_i(a)) = \sum_{i=1}^n g_i'(c) \sum_{i=1}^n (f_i(b) - f_i(a))$$

Proof: Define a function

$$h(x) = \sum_{i=1}^n f_i'(x) \sum_{i=1}^n (g_i(b) - g_i(a)) - \sum_{i=1}^n g_i'(x) \sum_{i=1}^n (f_i(b) - f_i(a))$$

Clearly it is continuous on $[a,b]$ and derivable (a,b) .

Now, the third condition of Rolle 's theorem is to be verified as below

$$\begin{aligned}
 &\sum_{i=1}^n f_i'(a) \sum_{i=1}^n (g_i(b) - g_i(a)) - \sum_{i=1}^n g_i'(a) \sum_{i=1}^n (f_i(b) - f_i(a)) \\
 &= \sum_{i=1}^n f_i'(b) \sum_{i=1}^n (g_i(b) - g_i(a)) - \sum_{i=1}^n g_i'(b) \sum_{i=1}^n (f_i(b) - f_i(a)) \tag{5}
 \end{aligned}$$

Case (i): If $n=1$

$$\begin{aligned}
 \text{then L.H.S} &= f_1'(a) (g_1(b) - g_1(a)) - g_1'(a) (f_1(b) - f_1(a)) \\
 &= f_1'(a) g_1(b) - f_1'(a) g_1(a) - g_1'(a) f_1(b) + g_1'(a) f_1(a) \\
 &= f_1'(a) g_1(b) - g_1'(a) f_1(b) \\
 \text{R.H.S} &= f_1'(b) (g_1(b) - g_1(a)) - g_1'(b) (f_1(b) - f_1(a)) \\
 &= f_1'(b) g_1(b) - f_1'(b) g_1(a) - g_1'(b) f_1(b) + g_1'(b) f_1(a) \\
 &= f_1'(a) g_1(b) - f_1'(b) g_1(a)
 \end{aligned}$$

Therefore the statement (5) is valid for $n=1$

Case (ii): If $n=2$

$$\begin{aligned}
 \text{then L.H.S} &= f_1'(a) + f_2'(a) (g_1(b) + g_2(b) - g_1(a) - g_2(a)) \\
 &- g_1'(a) - g_2'(a) (f_1(b) - f_1(a) + f_2(b) - f_2(a)) \\
 &= (f_1'(a) + f_2'(a)) (g_1(b) + g_2(b)) + (f_1'(a) + f_2'(a)) (-g_1(a) - g_2(a))
 \end{aligned}$$

$$\begin{aligned}
 & + (-g_1(a) - g_2(a))(f_1(b) + f_2(b)) + (-g_1(a) - g_2(a))(-f_1(a) - f_2(a)) \\
 & = (f_1(a) + f_2(a))(g_1(b) + g_2(b)) - (g_1(a) + g_2(a))(f_1(b) + f_2(b)) \\
 \text{R.H.S} & = f_1(b) + f_2(b) ((g_1(b) + g_2(b) - g_1(a) - g_2(a)) \\
 & - (g_1(b) + g_2(b))(f_1(b) - f_1(a) + f_2(b) - f_2(a)) \\
 & = (f_1(b) + f_2(b))(g_1(b) + g_2(b)) + f_1(b) + f_2(b) (-g_1(a) - g_2(a)) \\
 & + (-g_1(b) - g_2(b))(f_1(b) + f_2(b)) + (-g_1(b) - g_2(b))(-f_1(a) - f_2(a)) \\
 & = ((f_1(a) + f_2(a))(g_1(b) + g_2(b)) - (g_1(a) + g_2(a))(f_1(b) + f_2(b))
 \end{aligned}$$

The validity of the statement (5) exist for n=2.

Consider that the statement (5) is true for n=k

$$\begin{aligned}
 & \sum_{i=1}^k f_i(a) \sum_{i=1}^k (g_i(b) - g_i(a)) - \sum_{i=1}^k g_i(a) \sum_{i=1}^k (f_i(b) - f_i(a)) \\
 & = \sum_{i=1}^k f_i(b) \sum_{i=1}^k (g_i(b) - g_i(a)) - \sum_{i=1}^k g_i(b) \sum_{i=1}^k (f_i(b) - f_i(a))
 \end{aligned}$$

It is enough to prove that the statement is true for n=k+1.

Consider L.H.S

$$\begin{aligned}
 & \sum_{i=1}^{k+1} f_i(a) \sum_{i=1}^{k+1} (g_i(b) - g_i(a)) - \sum_{i=1}^{k+1} g_i(a) \sum_{i=1}^{k+1} (f_i(b) - f_i(a)) \\
 & = \sum_{i=1}^k f_i(a) \sum_{i=1}^k (g_i(b) - g_i(a)) - \sum_{i=1}^k g_i(a) \sum_{i=1}^k (f_i(b) - f_i(a)) \\
 & + \sum_{i=1}^k f_i(a) (g_{k+1}(b) - g_{k+1}(a)) - \sum_{i=1}^k g_i(a) (f_{k+1}(b) - f_{k+1}(a)) \\
 & + f_{k+1}(a) \sum_{i=1}^k (g_i(b) - g_i(a)) - g_{k+1}(a) \sum_{i=1}^k (f_i(b) - f_i(a)) \\
 & + f_{k+1}(a) (g_{k+1}(b) - g_{k+1}(a)) - g_{k+1}(a) (f_{k+1}(b) - f_{k+1}(a)) \\
 & = \sum_{i=1}^k f_i(a) \sum_{i=1}^k (g_i(b) - g_i(a)) - \sum_{i=1}^k g_i(a) \sum_{i=1}^k (f_i(b) - f_i(a)) \\
 & + g_{k+1}(b) \sum_{i=1}^k f_i(a) - g_{k+1}(a) \sum_{i=1}^k f_i(a) - f_{k+1}(b) \sum_{i=1}^k g_i(a) + f_{k+1}(a) \sum_{i=1}^k g_i(a) \\
 & + f_{k+1}(a) \sum_{i=1}^k g_i(b) - f_{k+1}(a) \sum_{i=1}^k g_i(a) - g_{k+1}(a) \sum_{i=1}^k f_i(b) + g_{k+1}(a) \sum_{i=1}^k f_i(a) \\
 & + f_{k+1}(a) g_{k+1}(b) - f_{k+1}(a) g_{k+1}(a) - g_{k+1}(a) f_{k+1}(b) + g_{k+1}(a) f_{k+1}(a) \\
 & = \sum_{i=1}^k f_i(a) \sum_{i=1}^k (g_i(b) - g_i(a)) - \sum_{i=1}^k g_i(a) \sum_{i=1}^k (f_i(b) - f_i(a)) \\
 & + g_{k+1}(b) \sum_{i=1}^k f_i(a) - f_{k+1}(b) \sum_{i=1}^k g_i(a) + f_{k+1}(a) \sum_{i=1}^k g_i(b) - g_{k+1}(a) \sum_{i=1}^k f_i(b) \\
 & + f_{k+1}(a) g_{k+1}(b) - g_{k+1}(a) f_{k+1}(b) \\
 \text{R.H.S} & = \sum_{i=1}^{k+1} f_i(b) \sum_{i=1}^{k+1} (g_i(b) - g_i(a)) - \sum_{i=1}^{k+1} g_i(b) \sum_{i=1}^{k+1} (f_i(b) - f_i(a))
 \end{aligned}$$

$$\begin{aligned}
 &= \sum_{i=1}^k f_i(b) \sum_{i=1}^k (g_i(b) - g_i(a)) - \sum_{i=1}^k g_i(b) \sum_{i=1}^k (f_i(b) - f_i(a)) \\
 &+ \sum_{i=1}^k f_i(b)(g_{k+1}(b) - g_{k+1}(a)) - \sum_{i=1}^k g_i(b)(f_{k+1}(b) - f_{k+1}(a)) \\
 &+ f_{k+1}(b) \sum_{i=1}^k (g_i(b) - g_i(a)) - g_{k+1}(b) \sum_{i=1}^k (f_i(b) - f_i(a)) \\
 &+ f_{k+1}(b)(g_{k+1}(b) - g_{k+1}(a)) - g_{k+1}(b)(f_{k+1}(b) - f_{k+1}(a)) \\
 &= \sum_{i=1}^k f_i(b) \sum_{i=1}^k (g_i(b) - g_i(a)) - \sum_{i=1}^k g_i(b) \sum_{i=1}^k (f_i(b) - f_i(a)) \\
 &+ g_{k+1}(b) \sum_{i=1}^k f_i(b) - g_{k+1}(a) \sum_{i=1}^k f_i(b) - f_{k+1}(b) \sum_{i=1}^k g_i(b) + f_{k+1}(a) \sum_{i=1}^k g_i(b) \\
 &+ f_{k+1}(b) \sum_{i=1}^k g_i(b) - f_{k+1}(b) \sum_{i=1}^k g_i(a) - g_{k+1}(b) \sum_{i=1}^k f_i(b) + g_{k+1}(b) \sum_{i=1}^k f_i(a) \\
 &+ f_{k+1}(b) g_{k+1}(b) - f_{k+1}(b) g_{k+1}(a) - g_{k+1}(b) f_{k+1}(b) + g_{k+1}(b) f_{k+1}(a) \\
 &= \sum_{i=1}^k f_i(a) \sum_{i=1}^k (g_i(b) - g_i(a)) - \sum_{i=1}^k g_i(a) \sum_{i=1}^k (f_i(b) - f_i(a)) \\
 &+ g_{k+1}(b) \sum_{i=1}^k f_i(a) - f_{k+1}(b) \sum_{i=1}^k g_i(a) + f_{k+1}(a) \sum_{i=1}^k g_i(b) - g_{k+1}(a) \sum_{i=1}^k f_i(b) \\
 &+ f_{k+1}(a) g_{k+1}(b) - g_{k+1}(a) f_{k+1}(b)
 \end{aligned}$$

Therefore L.H.S = R.H.S

Hence by mathematical induction, it is stated that $h(a)=h(b)$ is true for any integer K .

It is identified that h satisfies the following conditions.

- (i) $h(x)$ is continuous on $[a,b]$
- (ii) $h(x)$ is derivable on (a,b)
- (iii) $h(a)=h(b)$

The three conditions of Rolle's theorem are satisfied. Then there exists at least one $c \in (a,b)$ such that $h'(c) = 0$

$$h'(x) = \sum_{i=1}^n f_i'(x) \sum_{i=1}^n (g_i(b) - g_i(a)) - \sum_{i=1}^n g_i'(x) \sum_{i=1}^n (f_i(b) - f_i(a))$$

By the Rolle's theorem, $h'(c) = 0$

$$\begin{aligned}
 &\sum_{i=1}^n f_i'(c) \sum_{i=1}^n (g_i(b) - g_i(a)) - \sum_{i=1}^n g_i'(c) \sum_{i=1}^n (f_i(b) - f_i(a)) = 0 \\
 \therefore &\sum_{i=1}^n f_i'(c) \sum_{i=1}^n (g_i(b) - g_i(a)) = \sum_{i=1}^n g_i'(c) \sum_{i=1}^n (f_i(b) - f_i(a))
 \end{aligned}$$

Hence the proof.

3. CONCLUSIONS

The mean value theorem of n -real valued functions is established with an inductive approach. In addition to this, the mean value theorem for two functions which contain n components each is also proved with the back ground assistance of standard mean value theorems. Few necessary lemmas are also situationally substantiated.

ACKNOWLEDGMENT

This article is dedicated to A.V.V.HIGH SCHOOL(Estd.1913),a great school in Bapatla. It is celebrating it's golden jubilee function on Dec.27-28,2013.K.V.L.N.Aharyulu feels proud himself to be the old student of A.V.V.HIGH SCHOOL. He studied in this school from sixth class to tenth class(1987-1992). A.V.V.HIGH SCHOOL brought many Laurels to the field of Education. The products of this school are rendering valuable and significant services in multifarious files throughout the world.

REFERENCE

- [1] Buck,R.C., Studies in Modern Analysis, Prentice-Hall, Inc., Englewood Cliffs,N.J.,1962.
- [2] Hardy,G.H., Pure Mathematics,9th ed., Cambridge University Press, New York,1947.
- [3] Ruddin,W.,Real and Complex Analysis,2d ed, McGraw-Hill Book Company, New York,1963.
- [4] Simmons,G.F.,Topology and Modern Analysis,Mcgraw-Hill Book Company,New York,1963.
- [5] Smith,K.T., Primer of Modern Analysis, Bogden and Quigley,Tarrytown-on-Hudson, N.Y., 1971.

AUTHORS' BIOGRAPHY



Venkata Lakshmi Narasimhacharyulu Kanduri:

K.V.L.N.Acharyulu is working as Associate Professor in the Department of Mathematics, Bapatla Engineering College, Bapatla which is a prestigious institution of Andhra Pradesh. He took his M.Phil. Degree in Mathematics from the University of Madras and stood in first Rank,R.K.M. Vivekananda College,Chennai. Nearly for the last twelve years he is rendering his services to the students and he is applauded by one and all for his best way of teaching. He has participated in some seminars and presented his papers on various topics. More than 70 articles were published in various

International high impact factor Journals. He obtained his Ph.D from ANU under the able guidance of Prof. N.Ch.Pattabhi Ramacharyulu, NIT, Warangal. He is a Member of Various Professional Bodies and created three world records in research field. He received so many awards and rewards for his research excellency in the field of Mathematics.



B.Sai Gopi Nadh: He is a I M.Sc(Mathematics) student studying in Bapatla Engineering College, Bapatla. He stood first in intermediate; B.R College, Ponnur with the percentage 77.5%. He completed his B.Sc (Computes) in PBN Degree College, Ponnur with first class. He has given assistance to Lion's Club as computer operator from 2010-2013.He obtained few prizes at school level in his childhood. He has been actively participating as a student organizer for the successful conduction of school/college functions. He has zeal to invent new findings in Mathematics.